K 0 X
> int(x"2.x);
> int(x"2,x=1..2);
> plot(x"2,x=1..2);
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> int(1/(1+x°2),%);

> int(1/(14x"2),x=-infinity..0);

> plot(1/(1+x°2),x=-infinity..0);

— 1

arctan(z) PF wua I
,,j/ 0K - =7
‘IL'/‘-L 2
/
= |
P
- R - -y
-infinity




=
=
=

int (sin(x)
int (sin(x)

plot(sin(x) ,x=0..Pi
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> int((x-1)*sin(x),x);
> int((x-1)*sin(x) ,x=-Pi/2..Pi);

> plot((x-1)*sin(x),x=-Pi/2..Pi); _ i"} F
sin(z) — z cos(z) + cos(z)
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int (x"2%cos(x) ,x);
int (x"2%cos(x) ,x=0..Pi);
plot(x~2*cos(x),x=0..Pi);

x? sin(x) — 2sin(z) + 2z cos(z)
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>  golve(x"2+x-3=-x"2-2%x+2,%);
> plot({x~2+x-3,-x"2-2*x+2},x=-5..5);
> int ((~x"2-2%x+2)-(x"2+x-3) ,x) ;
> int((-x"2-2%x+2) - (x"2+x-3) ,x=-5/2..1); . -
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> plot({0,x"2,x=-1},x=-5..5);

¥ dntlx"24%);
> int(x"2,x=-1..0);
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> solve(1-x"2=0,x);
> plot(1-x"2,x=-1..1); .
> int(1-x"2,%); [
> int(1-x"2,x=-1..1); 7 8] ‘4 * N/
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> solve(exp(x)=exp(-x),x);
> plot({exp(x),exp(-x)},x=0..1); p
> int(exp(x)-exp(-x),x); Yoo
> int(exp(x)-exp(-x),x=0..1);
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> plot(1/x,x=1..3);

v

int(1/x,%);

> int(1/x,x=1..3);
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solve(sqrt (2*x+1)=x-1,%);
solve (-sqrt (2#x+1)=x-1,%);

plot ({sqrt(2*x+1) ,-sqrt (2*x+1) ,x-1},x=-1..4);

int (sqrt (2xx+1),x);

int(sqrt (2*x+1)-(x-1) ,x);

int (sqrt (2*x+1) ,x=-1/2..0);
int (sqrt (2*x+1)-(x-1) ,x=0..4);
int(sqrt(2*x+1) ,x=-1/2..0)+
int(sqrt (2*x+1)-(x-1) ,x=0..4) ;
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> solve(l/(1+x"2)=x"2/2,x);
> plot({1/(1+x~2),x"2/2},x=-1.5..1.5);
> int(1/(1+x"2)-x"2/2,%);
> int(i/(1+x"2)-x"2/2,x=-1..1);
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> plot({ln(x),0},x=5..7);

> int(1n(x),x);

> int(ln(x),x=5..7);
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> plot({abs(log[10]1(x)),0},x=1/10..10);
> int(abs(log[10](x)) ,x);
> int(abs(log[10] (x)),x=1/10..10);
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plot({-x"2+4*x-2,2-x},%=0.5..4.5);
solve (—x"2+4%x-2=2-%,X) ;

int (-x"2+4*x-2- (2-%) ,X);

int (-x"2+4*x-2- (2-x) ,x=1. .4);
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